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SOCIOLOGY

(Social Problcms in India)
Time : Three Hoursl [Maximum Marks : 80

Notc :- ( I ) All questions are cornpulsory
(2) Allquestions carry equal marks.

I . Meaning oi social problems. Explain the naturc ol social problems. 16

OR
Explain the Disorganisation peNpective. 16

2. Explain the causes ofPopulation Expiosion. t6
OR

Write on population policy in India. 16

3. Write short answers :
(a) \,learing of Migratior 4
(b.) Consequences ofuncmployment 4

(c) Causes otFanners's Suicide 4

(d) Causes of Migration. 4

OR
(e) Defirc ofuncmploymcnt. 4
(l) Llonsequences ofmigration. 4

G) Dcflrrition of migralion. 4
(h) Causes ofunemployment. 4

4. U'rite short answers :

(a) Definition ofAlcoholism. 4
(b) Natwe ofDrugAbusc. 4

(c) Effect ofAlcoholisnr on Family. 4

(d) Causes of Drugs Addiction. 4

OR
(c) Impact ofDrug Abuse. 4

(f) Causes ofAlcoholisrn. 4

G) Me.ining ofAlcoholism concept. I
1h) Problcms ofDrug Abusc. .l

5. Choose the concct option and write :

( l) "Ordinarily dowry is the propcrty which a man (cccives u'hen he maries, either liom his wifc
or her family" is thc dcfioition of
(a) Max Radir
(c) Maclver and Page

(b) Max \\reber

(d) None ol the above
(2) is the reason of increase in dowry system.

I

(a) Social custortr

(b) Caste slstem
(c) F'alse concL-pt of social system

(d) AII abovc
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(i) Do*ry Prohibition Act canic rnto c\istcncc ir
(a) 196l (h) 1960

(c) 1861 (l) 1860

(a) Creating Public Opinioll agailtsl dowry

1t) Education to girls
(c) 'lb give licedom lbr choosing Life-panner
(d) 4.ll above

(5) Today, as per larv marriagcable agc of bols and girls is
(a) 16 al1d 18 ycars (b) 2l and ]8 years

(c) )0 and 2l yean (d) 2l and 20 years

(i) As pr:r uhich Scction ol l-1'.C. is demanding do\\T-v a criminal olicnce ?

(a) 119 (b) l0'1
(c) 108 tl) 310

(7) At first Di1'orce Act was ,s.rnctioncd in 19.12 in the State of
(a) lsaurashlra (t) N'fumbai

(c) .llaroda ((l) Madftrs
(8)

(.1) 
--- 

is ncccssar) 1() solve tlte prohlenr ofdowry system

is,/arc rcason of di!orce
(a) ,ralse leclings oflolc (h) Oppositc rraturcs

(l3) Thc f,roblems thlt occur duc to a clivorce are

(c) Distortcd pcrsonality (c) All abovc

()) 'lhc l{ight oi'Divorce is gilen to wiri tbr husbands
(a) l{ape (b) Lnnirturalsex
(c) Cruelbehaviour (o) Allabove

( l0) __ -_ is the last step of family (lisorganisation.

(a) Divorce (t') Crime
(c) l\4ariagc (C) \onc olthcsc

(l 1) Thc rnarital relation of a ht sband and lhe * ilc because of divorce
(a) tlomes to arr cnd (h) \-ot come to an end
(c) llccomcs strong (d) \onc ofthese

(12) Hindu Marriagc Act is [)r the people of rcligion
(a) l{indu (l') Baudh
(c) Sikh (d) All above

I

(14)

(15)

( l6)

(a) Juvenilc Dclimluency (b) A brokcn homc
(c) r\ problem ofwomen (cl) All above

llindrr Marriagc 
^(t 

c,un( inLu cxill(n-e i11

(a) 196l (b) i955
(c) l8s5 (d) 1861

Divorce is a _- problenr.
(a) Lconomical (b) I,olitical
(c) liucial (d) None ofrhese
Follo'\,ing is the rcason ol liolencc a3ainst rvomen :

(a) lion is the lamp offiunily
(b) I)ivision oflabour in econonrv on thc basis ofgendcr
(c) llan oricntcd cultue
(d) -r\ll above
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B.A. (Part-II) Semcstcr-lIl Examination

(Optional Subjcct)

SOCIOLOGY
(Social Problcms in lndia)

'lime : Thrcc Hoursl [Maximum Marks : 80

@ qtqc)
{-+<(:- (t) 14 sfi ffi\ 3{Errm 3IEd.

(2) (rd er{iTr {q'l{ gq 3iB(.

l. flqrk{ rq*qr 3rd {rui, {rqrk6 oq&i E{6c rwe F{. 16

ftn
kr+cq6 E*+{ fur< fir 16

2. d'6{Rqr qr&fr 6RQ ETIE r 
frar 

16

'rrR-drfi-d +dTiqr dk"T' qT{( ft6r t6
3. +sfl( sri lta :

1q ereiarra ad 4
(o M+ qftqrq 4
(s) ilffff srrqr.M o'irt 4

1q ereirrrff +rci I
fa;{r

6; M* qr@r 4

im; {Tdrrrrn cftqrq 4
(:D Tffii {r* .cKqr 4
(a irffi 6,rti 4

4. ti.s{qm rrt futr :

(q) {{ia.6r{rff -qf.qr I
6-) :trdl .rod grqfurn HFq 4

1+1 rsffi tqswt-fi qftqrq 1
(B) 3i{fr sffrtqr M +T{d 4

ftAr
10 sffit qdTd gtlffi rrn+ 4

(s) trui++rrffi *lci 4

0D qafa{R 4r {}qr qd 4

CO si{S {flqfqr i-+rrff rrqr I
5. {{ra-d ftian qrari *rq cqlq ftTsr s ft-6r ,

(1) ft4ra-qr Ut gevnr eiqr rdtq1 h-4r tgElrg{ F|dlnt {i.rff Elri gsr Aq' A qK{r
fi"li +ff ? I
(3r) riffi t*i (B ,i+q t{r
Cs) riftrrq€{ 3nFr q''q (g) qtnst {rfi

(2) rsr s?Tr st&i mnvr qB

1q rmlir+ wr
(o qrfr qqR{r
(6) mq6- rqtfr {i* Ecq-fl
G) {ttm {rd

YBC-151156 (Contd.)



(j) vfr g3I uiaauo +rqEI ijk=.oe 3{Fr 3fl€

F) 1960

(3) t860
(4) gBqr$ ({sr dlsfloqrqrdl

fql g:lT ftrnat .r+qd F ai,r Fd
ttt 5fl+ Ereru d
1q dc+eiff F caqri Flrirq ,l,r. 

-r

G) 4.tm x-S

6) {dqn 6iard e;lruEnR lr.-{"rd Trrr 7 qffi rt fa-rrot} 3r,ifii sq
:ni
(3{) 1r' 3nFr 18 sr{

Cfl 30 3,'rftT 2l qtf
(6) qrrffq ts E*o {*

(3r) 3 t9
(o ll8

1t; r{wrr' _ -(-r.t{ril

(3{) dkrr.^
6+1 {+qr

(3r) l96l
(tr) I {16t

1:r1 imd$<r '.:r:

(o Fr{.( qfFrr.q

rrr+cqF rri

(s) : I :rnFr l8 srf
(s) 21 3nFT 20 sd

___ r,qt go r,B a qffi rrzr rrer 3ra

(c) .10.1

(s) 3 t0
1942 rtd Tarrfi-c +rqiir rgr tr{uqr+ 3Trdt 3fl8

1e1 ,1oi
(B r qrlq

(8 i q-*i.ri'l .rr,,i uri<

1lr liaa'im -rffr

(q) smr.6]a
p; *r+f,r

(E, q.tr{ Hfi Eqra
(st rfl,a r{

i-i :r+.qrr qffiq r&.izrqr 3{i}+rt ilqrd s'rf,r qre

I

i<.r Xon'1a
(e) a{ta +{

(to) tqE fur.r rdl ir+z'rt .n c+l rEEFi

(15) qu (Ii'. {qa. $Ta

($) ErP'rie

O) fir4lE

(E) g6r
G) qrtfr A

(lt) rr.eirri .r{l r..flao },r*+ ii;u
1u) qrzr< htm 51 *rwzm ta rrdl
(q) !a afid i,<1 rrffi ar&

(12)faE FI4r6 4Fr<I __. uqi,ftfi ffitat aq fit
(3r) fit F) dG
(s) flrs (s) d{h ,rJ

ltryv@ .Jqill rq{,rtrr
1r1 i r*yffi (dr Err;iq
(F) fa{ciqr {rsr 61 afu rzi

(14) Fg ft{F {r-{<r __ qdl 3rfft.sm 3{rdr.

(3{) 196r (E) 1955

(o r 8s5 (3) 1861

1

I

1

l

(q) iflftFd g1 n.rfuu
a{) 1rlqrtr6 [c) qd+.-] T16

(i6) 
-- 

srrl.r{J tz,trtrfa ftaqft.t g F{1qR +d TIi
(q) {drn Er riqriT ?ar ln} g) aritrae}fi-a rff 5ee rcr.i xclawr,ft
(s) S6rrsuri F+ffr 1:1 rfta rd
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AW-363
B.A. (Part-II) Scmester-III Examination

(Optional Subject)

socIoLocY
(Social Problcnls in India)

Timc : Three Hoursl fMaximum Molks : 80

fta rmr)
s\ft q'{ qFEd er
Rfr yrn + qqm 3ifi tr

t. qrqrfufi sqE.r +i 3rd qcr+r. (lqrF.r6 {{qt + q6q eqq dfri r 16

3 r;r
frrr-dri{+ E*drn' 1}gr< dE! r t6

2. q{rq q6i + 6Rrr RrR dRt I 16

3ITqI

w.d i q{ti@T dt't r' rq[t lifu} r 16

3. sdc i Ytrr frRct :

(3r) rsrdi { sr 3xd 4

6 M + qft"nq 4

Cfl f+ff{ grqrcq-r i +rc+ 4

Cs) ierdidi + {rrsr r 4
3rstEr

€ ++"-rrn$ di qftr+rw 4

$) Tqmr { + qftunq 4
(q) rqfri r +1 qftr{rsr 4

1r) M + 6rtul 4
4 {dci Tr {am

(3r) q{1}sr{ fr cftqrsr 4

($ 3ffi q<r* gswta * <e 4

6 rafa-+n 6I qftaR T{ ci{snr 4

6 urff rcrd *+c * Flf6 r 4
3iTqt

6 urdt rod gsq+rT Fr gqrq 4

tet rsfu{R i sRE 4
(rq raFffiR r+rqqr +r 3r{ ,l

(E) :irrdt qqrd i t'{{ +1 r+qr r 4

5. FrqftR{d i i ftq ft6d gh} 31ft RR.t ,

(r) "k{6 + 3rRr qr qr dr sg at( qr 4l + cltqR ERr A rr{ ftft q 3r6R ff q}s

? r" qt cR"nsT fr-si A a ? I

(q) riffi Tfrr (9 4+ ffi
(4) tw srr€{ s tq (g) id t Tfi

(2) qiq srTr {dri i anq ir
1sr) <mrF.r+ vm Cq ffi q{F?n

6) qmrt"r+ q{ fr r",ra F-ffiT'Cs) Jc-+ff elft
(3) r{ Ed t tis sfuu 5qr' rk-ra t omr

(l )

(2)

(]D 1961

(4) l86l
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(4) (}il d Fqsr + ida.r i Frn 3TTtIFFF d L

(3D 4+"r Hfi q-Fd lTqfuT 61{r
1o) m-sfd* +1 i?rcr q,:rn +tr+t
(61 ff++erdl 1+rE t -=r: m rqil s-r
1st vrif+,o e'{t

(5) {,iqln 6rd i +r1'{ i :r1e,n rrrro i B-dr[ + F,r rc+ fii rsfraii + -5<t
f{
(q) 16 q+{ l8 sr{ (q) 2l fr{ 18 4d
(rF) 30 3rt{ 2l qd r3) ll 3t{ 20 qd

(6) ".n ftq (s urTr A rr+-iE __ . __ 3r1{R <iq ilr tsffq 3iq{ru B r

(3r) 319 (s) 101

(F) 308 (3) 310

(7) F&qc t942 f kq nnq i f+srd ffi" sir1{ {{t k4r e ?

(iq it{ruz-^ (i) {{i
1+.1 osicr (s) wrv

(3) irmm * fif qqr{<r{ 6r(T ir

(30 rciri'i;r gr gartnl
(O S=q{6r{ (sr oTrirm q'{'l

(Io)clnrR Eiza st :ii+q rt& r rrd{a I

tyt reai e 1a, rT11 --
(s) E-{l6 (s) :-ri + d{ ifr

1tl) ,r<r+ i Tff +r q,f ,i ffis 4d,r I

r u1 r:nw -i wa ?

1:t,1 iirc<2ff w
(s) r4'fil ;qi+irrriq

(9) fd-dr6 + cr( rll'd ?irR

r*ll i r

61 awno dri ?

(r2) I+ii Esrd Err{r
(3r) F{
(6) tA.3

( 14) B-.i ilcT€ sr1n
r3r) l96t
(F) 1855

(E) qGT{ ffift aqta
G) :{tff Hfi

g1 lrrr< adt dt d
tsr s-, i i +}{ Tfi
Ed+ffi+fuaqet*rt
(q) +a
6s; v'rir< rtrfi

gr: qq qkre I 3nar r

14r lr)55

G) 1861

tr{ r6rt 6r -q46R 6{dr ? d qcf raro i
I

( I 3) (fls t _ li.rl.r.ri licf,r drff I r

(rI) qrcr 3rr{ru (q) "rr{ ckir{
t+) qFmirii d) eqEr isi vrii< vrt

( I 5) mF qd Cr -_-= {qiqr i
(30 srftf{ 1a; Trq,{.6q

1+,; qrqrftr+ 1';; q+t- t d{;dt
(t6) .,-_ +nlii i qftq{ n ,tarii A slr{ Eer * r+n di t r

(3r) sfir {6 {-d 6r frq-6 Erdr a
(q) 3r,iumer i =-+ grr,"r i sn-rm :r<fi*nva
1q 5sqslr rr+dl
(9 3rifi i{"t

YR( -t5Ui3

I

I

I

I

I
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